1EHEIETA (2B) Tube Fitting (Black)
PN BB

G Bulkhead Female Straight

CAD ] CAD

B{3 (Unit): m/m

Tube dia. -
Model u ﬁeD ia. A E G B © M R Mass(g)| Orifice
PMF4-01G 4 8 | 59 | 4 |252| 124 | M12x10 | 14 |G18 | 188 | 3
H 9 | 78 288 G1/8 | 295
PMF6-01G 6 4 143 | mM14x1.0 | 17 4.8
PMF6-02G 10 7.8 29.8 G1/4 29
PMF8-01G 9 | 98 316 17 | c18 | 30.8
PMF8-02G 8 10 | 98 | 4 |a326]| 183 | M6Xx1.0 | 19 |G1/4 | 382 | 6.8
PMF8-03G 11 | 98 33.6 21 | G3/8 | 51.2
PMF10-02G | o | 10 | 1.8 | | 36 | o0 | yooxqo |21 |GU4[ 589 | oo
PMF10-03G 10 |18 36 24 | G38 | es8
PMF1203G | [ 10 | 188 | _ [387) | oo |, (G381 ] o
PMF12-04G 14 13.8 42.7 G1/2 | 71.8
i = "
1= #E3% 7 (K) Tube Fitting (Ivory)
PN Bk
G Bulkhead Female Straight
=eme......
Model TUbastia' A E © B © M H R Mass(g)| Orifice
o0 PMF4-01G-W | 4 8 | 59 | 4 |252]124| M12x10 | 14 |G1/8| 188 | 3
PMF6-01GW | 9 | 78| 4 | 288143 M14x10 | 17 [G18 | 295 | 48
= =) PMF6-02G-W 10 | 78 | 4 | 208 143] Miax10 | 17 [Gua| 29 | 48
i=——o PMF8-01G-W 9 | 98 | 4 | 316|183 | M16x1.0 | 17 |G1/8| 308 | 6.8
o K Jo R PMF8-02G-W | 8 10 | 98 | 4 | 326|183 | M16x1.0 | 19 |G1/4 | 382 | 638
1
. 2 R IV PMF8-03G-W 1 | 98| 4 |336]183] Mi6x10 | 21 |G3s| 512 | 68
A PMF10-02G-W| 10 | 118] 5 | 36 | 209] m20x10 | 21 [Gua| 59 | 85
B K PMF10-03G-W 10 | 118 5 | 36 | 209| M20x1.0 | 24 |G3s| 68 | 85
on/ < PMF12-03G-W| 10 | 138 | 5 | 387] 243 | M22x10 | 24 [G14]| 731 | 105
R PMF12-04G-W 14 | 138 5 | 427 243 | m22x10 | 24 |G3s | 718 | 105
=V = SRR FER
G+NI Bulkhead Female Straight ﬁ
CADLCAD =T (U A
Model Tul‘Jngia. A E © B C M H R |Mass(g)| Orifice
@D
PMF4-01G-NI | 4 8 | 59 | 4 |252|124| M12x1.0 | 14 |G1/8| 19 3
= =) PMFE-01G-NI | 9 | 78| 4 [ 288 143 M14x10 | 17 |[G18]| 305 | 4.8
= PMF6-02G-NI 10 | 78 | 4 | 298| 143 | M14x1.0 | 17 |G1/4| 30 | 4.8
o K Jo p < PMF8-01G-NI 9 | 98 | 4 | 316 183| Miex1.0 | 17 |G18| 31.9 | 68
S . ( \ PMF8-02GNI | 8 10 | 98 | 4 | 326|183 | Mi6x1.0 | 19 |G1/4| 392 | 658
1 1
@ v L R | ¢ PMF8-03G-NI 11 | 98 | 4 | 336|183 | M16x1.0 | 21 |G3/8| 53.9 | 6.8
M k!
] \ b PMF10-02G-NI| 10 [ 118] 5 | 36 | 209 m20x1.0 | 21 [G14| 635 | 85
o < o PMF10-03G-NI 10 | 18| 5 | 36 | 209 | mM20x1.0 | 24 |Gc38| 70 | 85
R PMF12-03G-NI| 10 | 138 5 | 38.7| 243 | M22x1.0 | 24 [G1/4| 768 | 105
PMF12-04G-NI 14 | 138 5 | 427|243 Mm22x10 | 24 |G3s| 755 | 105

NI: £EIREHR NI:Release Ring (Metallic Body)




